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10| Temmoxon mpomen 9 kM 1o o3epy u 20 KM 1o TedeHuio pekn 3a 1 u. Cko-
POCTh TEILIOXO/IA, €CJIM CKOPOCTh TedeHus peku 3 km/4, paBua / The motor
ship traveled 9 km along the lake and 20 km along the river in 1 h. Calculate
the speed of the ship, if the speed of the river is 3 km/h
28 km/4 / 28 km/h 27 km/w / 27 km/h 24 km/ / 24 km/h
33 km/u / 33 km/h 36 km/a / 36 km/h

11 I'paduk dyukmum y = 7T JIEYKUT HE2KE TPsIMOit ¢y = 1 1pu BceX & U3 MHO-

x
3
xkecrBa / The graph of the function y = 5 lies below the straight line y =1
x

for all x from the set
(=003 =2)U(1; +00)  [2] (=005 2) U (5; +00) (05 +00)
(-25) (1;2)

12| Ksazparubim ypaBHenueMm ¢ KopHsaiMu, paBHbiME cos 30° u tg 60°, aisgerca /
The quadratic equation with roots equal to cos 30° and tg60° is
[1] 22 - (V3+ Dz +V3=0 [2] 222 +3V32+3=0
[3] 622~ (3+2v3)z+v3=0 [4] 222 -3v32+3=0
622+ (3+2v3)z+V3=0

13 1 3,9 1 3.5
ECJII/If(.’I}): 2_‘%—3_71.,‘1’0]0(\/5) paBHO/Iff(x) m—m,then
f (\/i) equals
Hoos [ 15 B2 [[os [

14| Hpamwie y = 4a?x — 4 u y — 4x + 4a = 0 He wMeroT 06X Touek, ecm / The
lines y = 4a?r — 4 and y — 42 + 4a = 0 have no common points if
a=-1 a=1 a=2 a==+1 a=+2

15 dsina — 3cosa . bsina—3cosa

—_— tga = —2 Fract —_————
AHpobo 2cosa + 3sina P cte o papia / Fraction 2cosa + 3sina o
ctga = —2 is equal to
—11 d T B -
13 9 4 7
16| Ecam xkaTeTs! npsAMOYTroIbHOTO TPEYTOJIBHUKA PpaBHbI 16 cM 1 12 cM, To MenaHa

1 | Pemmuts ypaBHenwme otHOcuTesbHO x, ecaum a#0, a#b, a#F —b
b
aga_ A i = / Solve the equation for z if a#0, a#b, a# —b:
ab

a2 —ab a2 — b2
> —ab  [2] a®+ab b? + ab a® — ab ab — b?

2 | Bemuuna log, 581 paena / Calculate log, 581
M B3 s @o [@s

3 | O6macrs onpenenennst byakmmn y = v9 — 22 copmamaer ¢ MmaOKkectBoM / The
scope of the function y = v9 — z2 commdes with
[] o253 2] r<+s [5] 3<rcs (1] v<—: 023 [5] o

4| Uz upambix A) x —4y =3, B) 2e+4y =5,C) 8x +2y =m, D) 4o —y = 6,
nepuenukyiapabl / From straight lines A) @ —4y = 3, B) 2z + 4y = 5, C)
8x 4+ 2y =m, D) 4z — y = 6 , find perpendicular
CI/ID/CandD AI/IC/AandC BI/ID/BandD
EAI/IB/AandB AI/ID/AaIldD

2 2

5 Boraucinrn (\/3 ++/5 — \/3 — \/5) / Calculate (\/3 +5 - \/3 — \/5)
[: [Eas: [ s [

6 | Paccrosmue ot Toukn (—0,5; 2) 110 ocu cuMMeTpun mapabossl y = —a + 3z +7
paero / Distance from the point (—0.5; 2) to the axis symmetry of the parabola
y = —x2 + 3z + 7 equals
0: B Ee @ [z

7 | B apudmeruteckoii nporpeccun u3BecTHbI a1 = cos 120°, ao = sin 30°. ecaTorit
ee wien paser / In the arithmetic progression, a; = cos 120°, as = sin 30° are
known. Its tenth term is equal to
[0-05 [(os []-9s [@[-s5 [Hs

6,4% + 3,22 6,4% + 3,22
8 | Yueno ﬁ pasno / Calculate ﬁ
2 2 40

e EH-! Hew ©Hu HY

9 | Haumbonbmee smagenune dbynkmuu y = 2z — 0, 522 pasno / The largest value of
the function y = 2z — 0.522 is equal to
G2 o [ [ [

runoreny3nl pasaa / If the sides of a right triangle are 16 ¢cm and 12 cm, then
the median of the hypotenuse is

10 cm /10 cm Izl 13 em /13 cm 14 cm /14 cm
12,5 em /12,5 em 6,5 cm /6,5 cm
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25 V3 )
MuoxkecTBO pelrennii HepaBeHCTBA Vot w o AT < 0 pasuo / Find the set
(x—1) (x—5)
V3 — 222
of solutions to the inequality (a:—t)x—(x—%) <0
(-1 3) (1; 5) (L; 1.5) (- L1 (- 1 5)
26| Ecmu f(z) = zcosx, 1o f (0) pasmsercst / If f(x) = x cosx, then f (0) equals
27| B Kpyre paccrosinue MexK/ 1y pacloJIOKEHHBIMU 110 Pa3HbIE CTOPOHBI OT IEHTPA
napaJutebHbIMu Xopaamu Jiuuabl 10 u 24 pasuo 17. yinHa OKpYKHOCTH PaBHA
/ In a circle, the distance between those located on opposite sides of the center
parallel chords of length 10 and 24 equal 17. The circumference equals
2897 267 225 447 93
28| O6acrs 3Havenuit pyHkmun y = cos? x +sinz — 0,5 coBIaJaeT ¢ MHOKECTBOM
/ The range of values  of the function y = cos®z + sinx — 0.5 coincides with
the set 3 1 33 13 1
[0; 7] [5;+00) -5 7] [5: 5] 531
4 2 2'4 2'2 4
1— 2
29 IIpousBomnas pyHKINN y = % B Touke x = 1 pasua / Find the
T—z
1— 2
derivative of the function y = e at the point x =1
142 — 22
: @ D @o 1
1
30 I'pacdurn dyHkIWmMii y = |2 i 1| Uy = |r — a| UMeT TOJIBKO OJHY OOIILYIO
T
|z + 1

TOUYKy 1pu Beex a u3 MHoxkecTBa / The graphs of the functions y = and

r+1
y = |* — a| have only one common point for all a from the set

200 [2] (0:1] ;2] [4] (-20] [~2;0)

17| Homep [TO/TYEPKHYTOI'O qJIEHA PeOMeTPUYECKOI porpeccun
1,-3,9,...,—243, ..... paser / Number of the underlined term of the geometric
progression 1, —3,9, ..., —243, ..... is equal to
; 7 0 ; )

18 sin 54° sin 54°

06b ————— pasna / Calculate —————

Ap c0s63° - sin 117° P / c0s63° - sin 117°
E- e B [Wesr [ -

19| Ecam BraXHOCTH NIIEHUIIBI, TOCTYIUBINEH Ha 3€PHOCYIUIKY, cocTaBsia 44%,
a mocJie IIPOCYNIKK OKasajach pasHoit 20%, To minenuna norepsia B Bece / If
the moisture content of the wheat entering the grain dryer was 44%, and after
drying it turned out to be equal to 20%, then the wheat lost weight
32% 24% 30% 25% 3009

20| Buccekrpuca npsimoro yruia TpeyrosbHuka ¢ kareramu 3 u 6 pasha / The
bisector of a right angle with sides 3 and 6 is equal to
Ll2vz [2Zl2vs [3]v2  [4 VB  [5]3v2

21| MmuoxkecTBo pemennit Hepasencrsa V16 + 8z + 22 < 3z pasno / Find the set
of solutions to the inequality /16 + 8z + 22 < 3x
(2;+00)[2] (—o0; =1)U(2;+00)[8] (—o0; —2)[4] (1;+00)[5] (—00;2)

22| Bce 3Havenns a, Ipu KOTOPLIX Hapabosa i = a — 42 — £2 HOJHOCTBIO PACIIONIO-
JKeHa HuKe ocu abcruce, oupegessaorcs nepaseacrsoM / All values ?7of a for
which the parabola y = a — 4z — 22 is completely located below the x-axis, are
determined by the inequality
a>0 a<—4 a>4 a<2 a<0

23| PasHoGounast Tparerus ¢ miomaapo 40 cM? u GOKOBBIM peOPOM 8 CM TaKo-
Ba, YTO B HEE MOXKHO BIMCATH OKPYKHOCTb. Pajiyc OKpy»KHOCTH paBeH / An
equilateral trapezoid with an area of 40 cm? and a side edge of 8 cm is such
that a circle can be inscribed in it. The radius of the circle is
[: [ [ls  [Mw [

24 . V3
CymMa KopHeil ypaBHEHUsI COST = ——5 TIPHHAMIEKALPX MPOMEKYTKY

3 3
[—7; g], pasaa / Find the sum of the roots of the equation cosx = 7%
3T
belonging to the interval [—; 7}
T 3T (s 4 5T

3 9 6 3 6
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